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(420) | 519 | 381 | 388 81 200 | 526 | 843 | 457 | 76.0
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2oL Zolct
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76 663 26.1|4.74| 59 556 386 508 6.1 57.0 369
50 58.037.0/496| 20 45.0/53.0/543| 3.0 480490
20 /704276496 | 3.1 551 418 528 | 3.1 |551 418
8.0 /669251473 | 57 |56.5|378507| 6.0 590 351
140 68.0 | 18.0|4.36|13.0 | 63.024.0|4.58 |13.0 60.0|27.0
133 /63.3 /235|456 | 9.0 |57.2|33.7(4.88|10.2|57.2|325
49 |65.8/29.3|491| 33 |533|435|526| 3.8 | 554|408
6.3 | 68.0|257|474| 57 |56.0|383|508| 54 | 57.7|369
100 66.8 | 23.2|457| 79 |579 343|488 79 614|307
6.0 166.0]281|485| 45 540|414 521 | 50 | 540 410
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[£12] 527\

(Base)

(Base)

(700)
(100)
(98)
(402)
(100)
(166)
(184)
(350)
(280)
(420)

(738
g

4.66
5.04
4.89
4.58
4.35
4.60
4.63
470
451

HEHO=Z Lt ofxof
e At

H

3.9
6.0
2.0
3.0
7.0
3.6
43
3.7
3.9
3.8

61.9
54.0
65.3
63.7
59.0
57.2
69.6
60.0
62.9
61.2

FAER I
so

o —

343
40.0
327
333
34.0
39.2
26.1
36.3
33.2
35.0

73

Bl
4.97
5.06
499
499
479
5.03
4.82
5.02
4.95
499

120

4.6
7.0
51
3.2
7.0
48
54
4.0
3.6
5.2

65.7
62.0
67.3
66.4
65.0
63.3
65.8
66.9
65.0
66.2

18.0
35.0
17.3
14.9
14.0
16.9
15.8
19.7
15.0

(73
g

438
493
454
426
414
431
433
443
419

Hi
=09
= 9

8.7

50

20
10.0
14.0
10.2
7.1

8.9

5.7
12.0
6.1
40
6.0
6.6
6.0
51
4.6
6.4

r2k ofy

71.7
68.0
82.7
79.6
75.0
777
79.9
76.6
76.8
783

68.4
65.0
77.6
69.4
59.0
62.0
723
69.4
68.2
68.6

25.9
23.0
16.3
26.6
35.0
313
217
254
271
250

(74
g

418
471
445
4.05
391
4.09
413
4.25
3.99
431

78

Bl
4.69
441
447
476
4.92
4.84
4.60
4.67
4.77
4.64
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701
. 314 101 56.6
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[E13] 3271
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o

(700)
(100)
(98)

(402)
(100)
(166)
(184)
(350)
(280)
(420)

(700)
(100)
(98)
(402)
(100)
(166)
(184)
(350)
(280)
(420)

H|
=9
4.7
8.0
4.1
4.2
4.0
6.6
6.5
29
36
5.5

149
9.0
7.1

152

270

211

120

134

17.9

129

733
69.0
76.5
754
66.0
67.5
77.7
73.7
714
74.5

11.9
220
16.3
95
7.0
114
10.3
129
10.7
12.6

78

Bl
3.97
4.50
431
3.87
3.50
3.85

3.98
401
3.79
4.08

17.0
29.0
194
129
19.0
10.2
20.1
18.6
146
18.6

8.7
9.7
139
9.3

56.6
70.0
65.3
537
46.0
50.6
59.2
58.0
58.6
55.2

22| A=R|oM
S271Y Fg2
WECtD HZHEC

H|
32
17.0
11.0

8.2
189
24.0
20.5
12.5
17.7
232
129

ES

69.0
60.0
714
71.6
65.0
66.3
734
68.0
66.8
70.5

EOl
S =

140
29.0
204
9.5
11.0
133
141
14.3
10.0
16.7

78

Bl
4.00
4.59
444
3.86
3.59
3.94
4.06
401
3.68
4.22
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E X S
2508 J120 s
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213 i
22380 164
"3 12.3 Y i 33.4
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SEEZAHE AR A EE
o= ax
e e o L
7H HR 5.40 AT
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[£14] S27|H 75 A Hast P8 | SHA 544
sHolo] 94 oln| S0 tHE  HAT ol
HEewE7|3 3|Ao| HH Mer p
(Base)
go 2% B2 g5 4o 28 B2 gf) 4p =8 e g
A (700) | 20 57.0 41.0|/522 16 539 446 530 13 569 419|523
InE=3-1jmi (100) | 3.0 | 60.0|37.0|/518| 3.0 |52.0/45.0(5.20| 3.0 55.0/420/5.13
o By (98) 3.1 |61.2 /357494 | 51 59.2|357(493 | 3.1 |653/31.6/4.88
== 44H| CHstm (402) | 1.5 | 585/40.0|521| 05 | 55.7|43.8|535| 0.5 58.0/41.5|5.28
Chstel (100) | 20 440540553 | 1.0 43.0|/56.0(555| 1.0 46.0/53.0/5.50
N2 (166) | 24 554 422|517 18 518|464 525 1.8 (542 440|521
F XA zol (184) | 1.6 1543 440|530 27 | 522451536 | 1.6 57640.8|5.27
a9 X9 (350) | 20 | 59.1/389|519| 09 |557 /434|528 | 09 57.7 414 5.23
A =M (280) | 2.1 /63.2 346|508 14 |589/396|523| 14 618 368|513
°= oM (420) | 19 | 529 |452|531| 1.7 | 505|479|534| 1.2 53.6/45.2|5.30
[B14] 347|Y0 75 A 2att HE | SEHX EHE AS)
22 MHE Lol Zys By AE
(Base)
o “F 22 gf| g % #2 g, =% e gF)
A (700) | 1.0 380 61.0|/577| 1.1 28.7/701 595/ 09 334 65.7|583
nE=3-iami (100) | 20 | 36.0|62.0||584 1.0 41.0|58.0(5.71 2.0 33.0/65.0/5.80
" MEr) (98) 1.0 500 49.0|/546| 10 469 |520|557| 1.0 469 |52.0| 546
== 4K CHEtw (402) | 05 381 /614|580| 10 [249|7416.03| 0.5 33.8|65.7|587
skl (100) | 20 1 28.0/70.0|/593| 20 [14.0/84.06.23| 1.0 19.0)80.0|6.08
M2 (166) | 0.6 | 36.7 627|578 1.2 [ 271|71.7|597| 0.0 343 |65.75.87
HE XA 4ol (184) | 1.1 386 603|576 1.1 |25.0/7396.05| 1.1 32.1)/66.8|5.89
a9 X9 (350) | 1.1 | 383 /606|578 1.1 314|674|589 1.1 33.7/6515.78
st =M (280) | 0.7 | 471521556 1.1 354|63.6(573| 1.1 421 56.8|5.58
°= oM (420) | 1.2 1319 66.9|592| 12 [243|745|6.10| 0.7 276 |71.7|6.00
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(700)
(100)
(98)

(402)
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(166)
(184)
(350)
(280)
(420)
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g
0.7
20
0.0
05
10
0.6
0.0
11
07
07

10

2S

53.0
52.0
68.4
50.7
48.0
51.2
543
531
59.6
48.6

a3t

ME
‘gt

=K

46.3
46.0
316
48.8
51.0
48.2
457
45.7
39.6
50.7

L|

e

¥y

36.1
39.0
51.0
343
26.0
343
353
374
43.9
31.0

39.0
440
56.1
37.3
240
38.0
40.8
386
493
321

60.4
54.0
429
62.7
75.0
62.0
58.7
60.6
50.0
67.4

5.69
5.56
5.24
5.76
5.99
573
5.70
5.67
545
5.85
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7t =1 0|0 '2IAFELR|7I(73. F WE((701%) S22 At 24 9
EEZ 80|dES He oMol MY ZQElt =2
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[Base: FX| & AHn=700), Unit: %]
THES 2.3
n I ST Q#C}
TE
@ 51.4
HE/OX =0}
= 7.7
48.0
@ 26.4 18.0
" ZQOHA| ROt 2 0.4 0303~ 06
oot MZE MESH= | MNEL CEQ2| &4
LA 2F 3 ER e e el ]
78 B 87 6.07 .
nF T QS :
' 35.0
"® a a7.0
=9 641
® Lot 13.1

1 25351 s 389 i fﬂ? 256
o 22| B —HAG3 =227 --ﬂir-ao:'t 0.3 L0601 0.7

Pelare 2y
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[#15] S47|H 75 A Hast PE | SHA 544
kst
ME MEshe S| AHE 2|7 CEOQ| E4
A 7 B
(Base)
mo % B2 g5 Lo 28 e g5 =8 we g h
A (700) | 0.7 381 611 575 04 26.4|73.1|6.03 0.6 48.0 514 5.51
nE=3-1jmi (100) | 1.0 |350|64.0|577 10 26.0|73.0(6.07| 20 41.0/57.0/548
" M2y (98) 0.0 1459|541 564 00 418 |58.2||574| 00 | 58.2 /418|537
== 48| CHEtm (402) | 0.5 | 368 627|580 0.0 | 259|741|6.06| 0.2 50.0/49.8|5.49
Chstel (100) | 20 139.0/59.0|/562| 20 [14.0/8406.14| 10 370620574
N2 (166) | 1.2 1404 584|567| 06 23.5|/759/6.08| 0.6 (434 56.0|5.61
HFE XA 49l (184) | 0.0 | 386614583 00 26.1|739|6.07, 0.0 473527554
a9 X9 (350) | 09 369 |623||574) 06 280|714|599| 09 50.6 48.6|544
st kM (280) | 1.1 1450 539|555 11 33.2|/657|586| 14 546 /439|531
°= oM (420) | 0.5 |33.6/66.0|588) 00 |219|781(6.15| 0.0 43.6|564  5.63
[E15] 347\ 75 A 2ot HE | 3EHX EHE AHS)
£E52 80|14 - Sl zpy my
(Base)

o °F 22 g5 =% #8 g , =% e gF)
A (700) | 0.7 | 35.1 64.1 586 03 339 |659|587 0.7 25.6 73.7 6.07
nE=s-1mi (100) | 20 /310 67.0|/593| 1.0 31.0/680|593| 1.0 | 320 /67.0|5.95
. HECY (98) 0.0 | 347653583 00 469 531|566 00 | 36.7|63.3|5.89
== 43K CHEtm (402) | 0.5 | 338657590 0.0 |328|67.2(590 0.2 239 /7596.12
i E=igs] (100) | 1.0 | 450 |540|564 1.0 28.0|71.0(591 3.0 15.0/82.0/6.16
N (166) | 0.6 | 36.163.3||587| 00 |349|651(586| 1.8 23.5|74.7|6.05
HE XA 49l (184) | 0.5 /1293 /701|601 00 |326|674(598 | 0.0 250750/ 6.11
a9 XY (350) | 09 377 /614|577| 06 [ 34.0/654582| 06 269 |726|6.06
st kM (280) | 14 429 557|561 0.7 [40.7 586|565 11 371/618|574
°= oM (420) | 0.2 | 30.0/69.8||6.03 0.0 293|70.7|6.02] 05 179 81.76.29
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e S3Eg WY 3+ Yt vl Al o

FAHe 4 wg | 7lglol By el oy

(Base)

go 8 B2 g0 4o 28 B2 gf) g, =8 Ga

A (700) | 0.7 | 29.1 70.1/596 | 04 | 40.1 594 571 1.6 54.0 444

nESa-igmi (100) | 3.0 {29.0  68.0(591| 1.0 |38.0 61.0|571| 2.0 49.0|49.0

srm MEL) (98) | 0.0 |36.7 633|576| 00 541 459|542 00 | 643357
= 44X sty (402) | 0.0 | 276 724|6.03| 0.2 |39.8 60.0/575| 1.5 | 552|433
i k=igt] (100) | 2.0 | 28.070.0(594| 1.0 |30.0 69.0583| 3.0 44.0 530

ME (166) | 0.6 | 29.5/69.9(599| 0.6 | 38.0 614 |573| 24 | 54.8 428

AHFE XA 4ol (184) | 0.5 | 228 76.6|6.08| 0.0 |375|625|583| 1.1 |571|41.8
a2 X|¢¥ (350) | 0.9 |32.3/669(589| 06 |42.6 569|563 14 | 520 |46.6

M =k (280) | 1.1 |40.7 |58.2|565| 1.1 /496493552 | 3.2 |61.1 357
°= oM (420) | 05 |214 781|6.17| 0.0 |33.866.2|584| 05 |49.3|50.2
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5 47|19 & 2pPgof chgh Ei e

W S47)9 15 Al TN M 20l s of27} LEOAAH £80| EHits HEL
64.0%0|1 E3| o{A0| 12|t

W 7E CfA S47(0] e ME 2l & A9 7|37t FojRls A #Yo| sHsithe
HIZS 561%2 DSSHD st 9 oj40| ATjMo=z 123t

B ZA BA7|0| TS CHYst HETt 0l Jtsd A T X|Qo|HE HH Jhssiche
HIES 454%0|0f 3] nSetm SR O M H|HFRL 0fHo| EjETt SHE

[AB17] 2719 +5 2PE0of st Ei=

[Base: TX| & AHn=700), Unit: %]

THET 5.82 3.57
nJf S O
26.1
"E 45.4
=9 36.1 s
6, 64.0
HE/OX J20
26.1
@ 26.0 1.1
220 == s 21.6 o
W
@ 11.9 346 13.7
FE IHX| RO} 1000, usoqg 4dde 23 =28 34
Fa7|Holl cist =& Cf4 s 47 8o
THES 75 FE2E Fa7|gol cist Cist CHETE HEE
solg & Ot MEES 0P Sof 20 JIS5CD
THe|AFEE A 2|57 FHEE =3 F A=
50| FLCt oS Z J10|CH == Jo|ct
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[#16] 27| X P80 gt = | SEX S92

271900 chgt 73 oy it
THH IA BRE SAJIA OF | oy gus
Hoist + okl | HmE sols zof | HUE B
Base) | Teigol sy | ogmet A DI =t jolojAl=
a SR =3 Zolct
HH (700) | 14 | 34.6 64.0/582 | 23 416 56.1 557 34 511 454
nE=t-1mi (100) | 1.0 | 30.069.0|595| 1.0 |36.0 63.0578| 3.0 38.0|59.0
" MEL) (98) | 0.0 | 388 61.2|571| 00 439 561|560 20 |58239.8
= 4K CHEtw (402) | 1.7 | 346 | 63.7|584 | 2.2 |41.5|56.2|559| 3.5 | 525 |44.0
k=it (100) | 2.0 |35.0|63.0(575| 6.0 | 45.0/49.0 527 | 50 | 520 43.0
ME (166) | 0.0 | 38.0 62.0|(579| 3.6 |43.4 53.0//544| 48 | 554 |39.8
HAFE XA 4ol (184) | 2.7 | 304 66.8|585| 2.2 |40.2 | 576|564 | 3.8 |484 478
a2 XY (350) | 1.4 | 351 634|583 1.7 |414 569|560 2.6 |50.6 | 46.9
M =k (280) | 29 | 425 546|554 3.2 |53.6 43.2|526| 57 |60.0|34.3
°= o (420) | 0.5 /293 70.2|6.01| 1.7 | 33.6 648|578 | 19 | 452 529
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z= x ol o©joF &3 O re) L= e B

S271d FHY A ol 2T e A 2 3T HE

4719 #e Al X 8 3% gZ o= 200-3508k 0T CHE BYstT, 22 FFORE
150-3008tgl 02t CfE Blee

slg Y3 bl 22 Y YL 4008l Jher LA LhErd

old Ee2 tietd At IHY

[1818] g

SRR

100~1500+2
150~2002: 2
200~2509+2
250~3005:2
300~3500:
350~4002:
400~4502+2 o2k | 3.4
450~5002: 2 0.3

5002:2 | 1.6

o2 | 1.4

ojo: | 4.9

o/ [ 36.9
oo I 304
ojo: [l 15.7

oot B 5.7

oj 2t

Z7256.26 T2

[Base: FX| & XHn=700), Unit: %]

52 8% 23

oj2: | 2.9

ojo: I 23.4

o|2+ I 46.9
oo [l 17.6

10015023
150~2002FHH
200~250T0HH
250~300%HE

300~3502:2 ojor l 7.0
350~4005+2 Oj9F | 1.0
400~4500¢21 0|2+ 0.7
450~5009¢2 0|2t | 0.1

5002t 0.4

7 217.04 TH3
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[217] 8|2 22 U 22 oY W

100~ | 150~ | 200~ | 250~ | 300~ | 350~ | 400~ | 450~
Aba A 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 500 |[=H
IS o oie erg ole ory ol o okl | ol ok
0Bt D|BF DB DB OB O3 0B 0jg

H Y m (700) 14 | 49 | 369 304 157 5.7 31 | 03 1.6 |256.26
szt (100) | 5.0 | 80 | 500 160 | 160 | 20 20 | 00 1.0 |234.80

e MELY (98) 31 | 10.2 | 520 | 255 | 61 10 10 | 00 1.0 |227.35
o 4K CHEta | (402) | 05 37 | 356 | 351 | 179 | 37 30 | 00 | 05 (25547
CHsHe (100) | 0.0 10 | 140 | 310 | 160 | 220 | 70 | 20 | 7.0 |309.20

MNe (166) | 1.8 54 | 325|277 187 | 738 36 | 00 24 26248

;12'; 49l (184) | 05 | 43 | 397 304 | 168 | 6.0 0.5 0.5 1.1 |253.60
a9 XY (350) | 1.7 | 49 | 374 | 317 | 137 | 46 | 43 0.3 14 |254.70

s = (280) | 1.8 25 | 357 | 318 | 161 54 | 46 | 04 1.8 (261.49
°= o (420) | 1.2 64 | 376 | 295 | 155 | 6.0 21 0.2 14 |252.76

100~ | 150~ | 200~ | 250~ | 300~ | 350~ | 400~ | 450~

JUET P 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 500 |[HW+ :
T oo o org | orgl orgl obgl | okgl obgl | oigl | ohgl

ojgt | ojgt ojgt o2t ojgk ojgt o9 ojg
B 4 | (700) 29 | 234 | 469 176 7.0 10 0.7 0.1 04 |217.04
nsskn (100) 7.0 | 360 | 380 | 160 | 20 0.0 1.0 0.0 0.0 |[196.98
HELD (98) 6.1 | 418 | 418 | 71 2.0 1.0 0.0 0.0 0.0 |194.03

(402) | 1.7 | 19.2 | 537 182 | 60 1.0 0.2 00 | 0.0 21713
(100) | 0.0 | 100 | 33.0 | 270 | 210 | 20 3.0 1.0 3.0 |259.32
(166) | 3.0 | 241 | 398 | 217 | 96 | 06 06 | 00 | 06 (220.99
i 49l (184) | 2.7 | 228 | 50.0 168 | 6.0 11 0.0 | 05 0.0 |216.36
K (350) | 29 | 234 | 486 160 | 63 11 11 0.0 | 0.6 21553
(280) | 25 | 186 | 50.0 | 182 @ 82 0.4 11 0.0 11 |221.74
(420) | 31 | 267 | 448 171 | 6.2 14 0.5 0.2 0.0 [213.91
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{0 ok Pt
TEERS

[E18] 3% B3 Y 22 3% ¥

100~ | 150~ | 200~ | 250~ | 300~ | 350~ | 400~ | 450~
150 | 200 | 250 | 300 350 | 400 | 450 500 500 ([
obgl  ohgl | obel | Obel | Rl kel | kel | ohgl | oigl

ojgt | ojob | Ojg | O]9t ojgt | ojgk | ol | ojg
H 4 | (700) 1.0 26 390 333 | 149 | 49 29 0.4 11 260.13
nE=s-1mi (100) 4.0 6.0 | 480 | 210 | 150 | 20 4.0 0.0 0.0 [241.80

Al

2 ok

o [l

e MELY (98) 31 41 | 571 265 | 71 0.0 10 | 00 1.0 |234.10
o 4K CHEtw | (402) | 0.0 17 | 376 | 388 | 152 | 35 2.5 0.0 | 0.7 |260.56
CHsHe (100) | 0.0 10 | 180 | 30.0 | 210 | 180 | 5.0 30 | 40 |302.24
MNe (166) | 1.2 18 | 380 | 277 | 199 | 6.6 24 | 0.6 1.8 |264.47
;1; 49l (184) | 0.0 | 22 | 397 370 | 136 | 38 2.2 0.5 11 |260.11
a9 XY (350) | 14 | 31 | 391 340 | 131 | 46 34 | 03 0.9 [258.09
st = (280) | 11 14 | 350 | 354 | 179 | 36 39 0.0 1.8 |264.92
S=

o (420) | 1.0 | 33 | 417 319 | 129 | 57 21 0.7 | 0.7 |256.94

100~ | 150~ | 200~ | 250~ | 300~ | 350~ | 400~ | 450~
NS ol wa ow e G e A ww | o bW

ojgt  ojgk | ojer | ojgk | ojeb o ojgk | oojek | opg
H Y | (700) | 2.0 | 10.7 | 59.7 200 53 14 | 07 | 00 01 22543
nk=y-igm (100) | 8.0 | 21.0 | 490 190 | 20 | 00 10 | 00 | 0.0 (206.97
By (98) 41 | 214 | 653 | 71 1.0 1.0 0.0 | 00 | 0.0 (204.88

(402) | 05 | 75 | 654 214 | 40 1.0 0.2 0.0 | 0.0 |226.45
(100) | 0.0 | 3.0 | 420 280 | 180 | 5.0 30 | 00 1.0 |259.94
(166) | 1.8 | 10.2 | 56.6 K 229 | 6.6 1.2 06 | 00 | 00 |226.16
i 49l (184) | 05 98 | 658 | 174 | 43 2.2 0.0 | 00 | 00 [226.01
K (350) | 29 | 114 | 580 200 | 51 11 11 0.0 | 03 22478
(280) | 21 93 | 557 | 243 57 11 14 | 00 | 04 22946
(420) | 19 | 117 | 624 171 | 50 17 0.2 0.0 | 0.0 [222.75
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